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AR 2

F-X624p(EPe)T= 12:30 &k 12:45 0 %

¥ EA 7 P Fl e 3
1 1B l4fkntr e 400 &= R & 5¢ FF
2 B lAknIF & 400 &> =R & 5¢ FF
3 15 ~ 1Tkt 400 2 % R & 58 TR
4 15~ 1Tk®ny+ e 400 > <R & 3 TE
5 182 1t st 3t 400 2 <R & 5 ¥
6 182t fnyF e 400 > < jm & 5 ¥ 5
7 138 14 fhats e 200 2 & Frgt ¥
8 138 14kng3e 200 2 & Frgt ¥
9 15 ~ 17Tt 3 & 200 2 & Frgt ¥
10 15~ 1Tk=33 e 200 2 & Frgt ¥
11 182 it st 200 2 & 3k TF
12 182 Mt kny 3 200 2 & 5t FF
13 138 14t Fe 800 2 pd e
14 1314k FE 1500 2 = f d 3¢ 3
15 15 ~ 1Tgz+F 2 800 2= pd 3t e 3
16 15 ~1Tgxy+E 1500 2 = f d 3¢ 3
17 182 112 ik 5 800 2% f o 5 A
18 1821t k%Y 3l 1500 = = A & 5% g




$-X635p(API)L-=

8:00 4 8:15+ f

¥ | # P el o 3
19 102 TR+ 3 200 > pd % 3
20 102 27 kheyde 200 > ¢ g d 3 PR
21 11 & 12kt 3 200 > ¢ pd 3¢ i
22 11§ 12kBs3 & 200 > ¢ pd 3¢ EF
23 138 14tz 200 > ¢ pd 3¢ EF
24 138 14fkny3eE 200 > ¢ pd 3¢ EF
25 15 ~ 1Tkt e 200 > ¢ pd 3¢ A
26 15~ 1Tksy+ e 200 > ¢ pd 3¢ EF
27 182 b3l 200 > ¢ pd 3¢ ¥
28 182 2t sy 3 e 200 > ¢ pd 3¢ ¥
29 102 2T Rt e 50 2 & 3350 R
30 102 Tksy 3 50 2 & gk EF
31 11 & 12ks23 2 50 2 € gk %
32 11&12k53 3% 50 2 € 350 FF
33 13& 14t 50 2 € gk %
34 138 1433 50 2 € 358 ¥
35 15 ~ 1Tks+3 8 50 2 € 358 ¥
36 15~ 1Tks3F & 50 2 € 358 ¥
37 182 kst 3 50 2 € 358 ¥
38 182 1t sy 3 50 2 € 358 ¥
39 102 27 st 3 e 50 2 ¢ st ¥ 5
40 102 nT sy +e 50 2 ¢ st ¥ 5
41 11 § 12/ks+3 2 50 2 & Bst ¥ 5
42 11 & 12k533E 50 2 = g5t PF
43 138 14fasr3 50 2 & ggt ¥ 5
44 138 14fsy3e 50 2 = g5t PF
45 15 ~ 1T+ & 50 2 & gEst %3
46 15~ 1Tk®EF & 50 2 & gt ¥ 3
47 182 it Rt 3 50 2 & Pst ¥ S
48 182 M Awy 3 50 2 = g5t ¥




$-26*5P(AHI )T 14:

00 4% 14:15 v ¥

¥ ER 7 B ¥ oF 3
49 138 4ppt3 e 400 > = R & 5% s
950 138 14y e 400 > =R &S0 -
51 15 ~ 1T+ 3 & 400 > =R &S0 -
52 15~ 1Tk®I+E 400 = =R &3¢ -
53 182 mt Ant3 e 400 > = R & 5% s
54 182 1t iyt 400 2 < 8 & 3 o
95 102 T kntsle 200 &= @ d 5t a d
56 102 0T knydie 200 2 ¢ pd 5 A%
o7 11 & 12543 8E 200 > ¢ pd 3N a d
58 11 & 124533 & 200 &= g d 3t -
59 13& 14t 3 e 200 > ¢ pd 3N -
60 1B 4EnTF & 200 > = g d 3t g
61 15 ~ 1Tks4+3 2 200 2% pd 3t 5
62 15 ~1Tk®IF & 200 >~ = @ d 5t 5
63 182t omtil 200 2% pd 3t 5
64 182 Mt &ny 3+ 200 2% pd 3t 5
65 102 2~ i3 50 2 ¢ g 5N i
66 10207 kxni+ e 50 = ® st g
67 11 & 12ks+38 50 = ® st g
68 11 & 1253+ E 50 = ® st g
69 138 4phst3 g 50 = ® st g
70 B&l4kmIF & 50 = © st .
71 15 ~ 1Thka*3 & 50 2 € g% i
72 15~ 1Tk®33 & 50 2 € g% i
73 182 1t a3 50 2 € g% i
74 182 1t knyFe 50 2 ® 35 o
75 1B&lAkmn+3 8 200 2 & 5t i
76 13&14knyF & 200 2 & 5t *F
7 15 ~ 1TB43 8 200 2 & 5t *F
78 15 ~1Tk=xIF & 200 2 & 5t A
79 18z utgkunti e 200 2 & 5t A
80 182 utknyF e 200 2 & 5t A
81 102 1Tkt 3le 50 2 & ghst Al
82 102 21 Thny > 50 2 = st e
83 11 & 12/km+3 50 2 = st g
84 11§12k 3 50 2 = st g
85 1384kt 50 2 = st g
86 13&14kRT I 50 2 = st a3
87 15 ~1TkB4F & 50 2 = st a3
88 15 ~1Tk®S 3 & 50 2 = st a3
89 182 11} i+ 3 50 2 & gst g
90 182 1t &ny e 50 2 ¢ g5t %




=% 62 6p (%) = 8:00 & 8:15 " F

¥ LR O o
91 102 TR+ 3 50 2 ¢ pd 5 Pk
92 102 TkBy e 50 ¢ pd 5 EF
93 11 § 12kBs3 e B0 2% pd 5 ¥
94 11§ 12kBy+ e 50 ¢ pd 5 EF
95 138 14kt B0 2 ¢ pd s ¥
96 138 14y Fe B0 ¢ pd 5 EF
97 15 ~ 1Tkt e B0 2 ¢ pd s ¥
98 15~ 1Tksy+ e B0 ¢ pd 5 EF
99 182 st 3 50 2 ¢ pd 5t 3
100 182 Mt k&nT 3l 502> € pd N R
101 102 2~ st 3 e 100 2 & 350 EF
102 102 Tksy 3 100 2 & 350 EF
103 11 & 12 ks+38 100 2 ® 3 3% FF
104 11&12k53 3% 100 2 ® 3 3% FF
105 138 4fs+3 8 100 2 ® 3 3% FF
106 138 1433 100 2 = 358 ¥ 5
107 15 ~ 1Tks+3 8 100 2 @ 358 ¥
108 15~ 1TksI3 e 100 2 © 3 3% TF
109 182 kst 3 100 2 @ 358 ¥
110 182 1t sy 3 100 2 € 358 ¥
111 102 27 st 3 e 200 2 < R & 5 ¥ 5
112 102 Tksy 3 200 2 < R & 5 ¥ 5
113 11 & 12kst3 200 > =R &S PR
114 11§ 12kB9F 8 200 > =R &S PR
115 138 14fasr3 200 = & R & 5% EF
116 138 1493 200 > <R &S PR
117 15 ~ 1T kB3 & 200 2 % R & 5% PR
118 15~ 1TkByF & 200 2 % R & 5% PR
119 182 1} it 3 & 200 2 & R & 5 ¥ 3
120 182t ABY3E 200 2 R & 5% PR




$=%2 67 6P (R%F>) T 14:00 s 14:15 v

fTRES By 7P Ful o 3
121 102 2~ fists 50 2 < fi @ 3 R
122 102 1TR®%T 3 e 50 == p d 3t o
123 11 & 12kt 50 22 A d o
124 1112/ %Y+ 50 == p d 3t o
125 138 4t 50 22 A d D i
126 13 14fkny3le 50 == p d 3t D i
127 15 ~ 1Tkx*I & 50 &< p d 3t D
128 15~ 1Tk®T 3 & 50 &< p d 3t
129 182 Mt kuntile 50 &< p d 3t i
130 182 Mt kmni 3l 50 &< p d 3t i
131 102 4T fhantdie 100 = = 3 5¢ a3
132 102 u"kni+ e 100 = = g3t D 3
133 11 & 12/kn*3te 100 = = 338 D 3
134 11 & 125+ 100 = = 3 35¢ s
135 13& 14fntste 100 = = 338 s
136 13 14%y 3+ 100 = = 3 35¢ s
137 15 ~ 17 st 3 & 100 2 < g 20 R
138 15~ 1Tk®ST 3 & 100 2 = 338 S 3
139 182 Mt kb3l 100 = = 5% e 3
140 182 Mt kxni 3l 100 = = 3t s 3
141 102 uTgmntdtE 200 2R &S ey 3
142 102 T k®ny+E 200 2R &S ey 3
143 11 & 12m+3E 200 > =R ES ey
144 I11&12km3FE 200 > =R ES ey
145 13& 4ppntirs 200 2R &S ey
146 13&14ny+ & 200 2 = m 450 oy 3
147 15 ~ 1Tfxn4t3 e 200 @ = R &3¢ oy 3
148 15 ~1Tk%ny+ & 200 2 = m 450 oy 3
149 182 utgimtt 200 @ = R &3¢ oy 3
150 182 Mt EmnF+E 200 @ = R &3¢ oy 3
151 02T REa+F e 4X50 & = p d V4% a3
152 102 1T HE®nyFE 4X50 & = p d V4% oy
153 11 §12n43 e 4X50 2= pd N EA oy
154 11 &§12%Y 3 & 4X50 2 & p d N4 -
155 13&14pint3 e 4X100 & = p & 3544 a3
156 13&14%ny 3 e 4X100 2= g o &4 ey
157 15 ~ 1Tx43 & 4X100 2= g o &4 ey
158 15 ~ 1Tk®Y 3+ & 4X100 2= g o &4 %
159 182 it it 3 & 4X100 2= g o &4 %
160 182 ntHmy3E 4X100 2= g o &4 ¥




$rx 62 Tp(R#Hp) = 08:00 %4k 08:15+ %

= A 7B ;
161 102 2T REat3e 1002 pd & TR
162 102 uTk®Ey+E 100 2% pd 50 TR
163 11§ 12kn+3E 100 22 pd ;¢ TR
164 1112/ &%y FE 100 2% pd 50 TR
165 138 4ppmtii 100 2% pd 50 TR
166 13 14ppmyF+e 100 2% pd st TF
167 15 ~ 1T+ 3 e 100 22 pd 5t R
168 15 ~1Tk®%y+ & 100 2% pd st TF
169 182 Mt kuntile 100 2¢ pd N TF
170 182 utEkmy 3+ & 100 2 pd 5t R
171 102 2T Rat3 e 50 & & frsh R
172 102 U THkEy 3+ 50 2 & e U
173 11 & 12K5n+3 % 50 2 & frgd R
174 11 & 12K%TF 5 50 2 & gl ¥
175 138 14fm+3 8 50 & & gt TP
176 13 14583+ 50 2 & gl ¥
177 15 ~ 1TkRE+*3 & 50 2 & frst TP
178 15 ~ 1Tk%T+ & 50 & & gk TR
179 182 ntgismt3 i 50 2 & fst TR
180 182 ntEmy 3+ 50 2 & fst TR
181 13& 14fkm4+3 8 200 2 & gt WP
182 138 1453+ 200 2 ® gpest PR
183 15 ~ 1TkEa~3 2 200 2 ® gpest PR
184 15 ~1Tk®T > & 200 2 ® gpest PR
185 182 it it F 200 2 & TR
186 182 Nt ¥ 3+ 200 2 & TR
187 11 § 12K+ 400 2 ¢ g d N ¥ S
188 11§ 12Kk=%T 3 & 400 2 ¢ g d N ¥ S
189 138 144+ 400 2 ¢ g d N ¥ S
190 138 14fmng e 400 2 ¢ g d N ¥ S
191 15 ~ 1TfREa43 & 4002 pd R TR
192 15 ~1Tk®TF & 4002 pd R TR
193 182 11t a4 3 400 22 o ﬁ%
194 182 utkmny+E 400 2= p d N TR
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X 67 Tp(RHFP) 7= 14:00 s 14:15 v

fTRES By 7P Ful o 3
195 102 2~ fists e 1002 3 3 A F
196 102 2~ jimys e 1002¢pd AR
197 11 & 12kt 100 &= A & 3% s
198 11&12/kny 3 100 @ = A d 5% -
199 138 4t 100 &= A & 3% -
200 13 14fkny3le 100 @ = A d 5% -
201 15~ 1Tkt 3 e 100 2= f & 38 -
202 15~ 1Tk®T 3 100 >~ = g & 38 a d
203 182 Mt kuntile 100 2> ¢ g & 5% a d
204 182 Nt find e 100 2 < § 3 3¢ ¥
205 102 1T RatIle 50 « & frst a d
206 102 TRRT 3 e 50 « & frst a d
207 11§ 12Kkn43 8 50 = & Frst g
208 11 &12/K%T 3 50 = & gt g
209 13 4t 50 o & Frst g
210 13 14%y 3+ 50 2 & #rst 5
211 15 ~1Tka+3 &2 50 = & Frst 5
212 15~ 1Tk®ST 3 & 50 = & Frst a4
213 182 Mt kb3l 50 = & Frst a4
214 I T EYS 50 2 € Py ~F
215 13& 14t 200 = = gt g
216 138 14kn3 3 200 = = gt g
217 15 ~ 1Tka*3 2 200 = = gst g
218 15~ 1Ty 3+ e 200 2 = gt .
219 182 utgumtt 200 = = Pt .
220 182 Mt EkmnFT+E 200 = = Pt .
221 11 & 12m+3E 400 2= pd 3¢ .
222 11&12k%n33FE 400 2= pd 3¢ .
223 13 14ttt 400 2 = g d 3t *F
224 13&14ny+ & 400 2 = g d 3t *F
225 15 ~ 1Tfxn4t3 & 400 2 = g d 3t *F
226 15 ~1TgxY+ & 400 22 pd 3¢ A
227 182 utgimtt 400 2= pd 3¢ A
228 ERET R EDS W02 pd o AP
229 02T REa+F e 4X50 > =R &5V 4% 4 g
230 102 1T HE®nyFE 4X50 > =R &5V 4% 4 g
231 11 & 12+ 4X50 2 =R &N HEA g
232 11 &§12%Y 3 & 4X50 2 =R &N HEA g
233 13 4ppmtss 4X100 & = ;R & 5% 4% 4 g
234 13 4ppmny e 4X100 2 = ;B & 5% &4 a3
235 15 ~ 1Tx43 & 4X100 2 = ;B & 5% &4 a3
236 15~ 1TExy 3+ & 4X100 2 = ;B & 5584 a3
237 182 it it 3 & 4X100 2 = ;B & 5584 a3
238 182 iy F & 4X100 2 = ;R & 5% &4 a3
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1% 62 8p(2%-) +=8:00%& 8:15 F

= Y O o
239 102y~ ketise 100 2 & #m5% FF
240 102 27 sy de 100 2 = gt ¥ 4
241 11 § 12kB+3 5 100 2 & ¥k ¥ 4
242 11 §12kn33 & 100 2 & ¥k A F
243 138 14kt 100 2 & ¥k A F
244 138 14fkny3eE 100 2 & ¥k EF
245 15 ~ 17T st 3 & 100 = @ frst ¥
246 15~ 1Tksg3 e 100 = @ frst ¥
247 182 st d e 100 2 & trgd EF
248 182 it fwy 3 100 = @ frst ¥
249 138 4fs+3 8 200 2 & 50 FF
250 138 14fks3sse 200 2 & 50 FF
251 15 ~ 1Tkss3 & 200 2 € s %
252 15~ 1TksI3 e 200 2 & 50 TF
253 18 2 1t it 3 200 2 € 5 ¥
254 182 1t hsd 3 200 2 € 5 ¥
255 102 27 st 3 e 100 2 & gegt HE
256 102 nT sy +e 100 2 & gt ¥ 5
257 11 § 12/ks+3 2 100 2 © g5t ¥ 5
258 11 & 124533 100 2 = g5t FF
259 138 14fasr3 100 2 & gt ¥ 5
260 138 14fsy3e 100 2 = st PF
261 15 ~ 1T+ 2 100 2 & gt ¥ 5
262 15~ 1TkByF & 100 2 & st ¥ 3
263 182 it Rt 3 100 2 = st ¥ S
264 182 Nty 3 e 100 2 = st ¥ S
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FIx 62 8p(2%-) 7= 14:00 44 14:15 v F

¥ | # P el o 3
265 102 0T ket3le 100 = = 3t ey
266 102 T&%RY 3+ 100 = = 3t oy 3
267 11&12ks4+32 100 = = 3t oy 3
268 11&12k%3FE 100 = & w3t oy 3
269 138 14ppstd e 100 = = 3t oy 3
270 138 43 E 100 = & 3t ey 3
271 15 ~ 1T+ 3 e 100 = = 3t ey 3
272 15~ 1Tkny+e 100 2 @ 3t o
273 182 ut ot 100 = = 3t ey 3
274 1821t Rey e 100 = & e3¢ ey 3
275 138 14pst3 200 2 = g5t ey 3
276 138 14ks3ss 200 2 = g5t ey 3
277 15 ~ 1Tks4+3 2 200 = ® g5t ey 3
278 15~ 1Tkss+e 200 2 € i st o
279 182t kuntis 200 = < 5t e 3
280 182t kunyd s 200 2 = 350 e 3
281 102 T Rot3 e 100 = = st ey 3
282 102 0T R5y 3+ 100 = = st ey 3
283 11 & 12kB+38 100 & = gest ey 3
284 11§ 12k53 38 100 = = gest ey 3
285 B& 4+ F 8 100 2 & st a3
286 B& 14T+ & 100 & = gegt a3
287 15 ~ 1TkBm4F & 100 2 & st a3
288 15 ~1Tk=xIF & 100 2 & st a3
289 182 Rt 100 2 = st 3
290 182t Rk5y+E 100 2 = 35t ey 3
291 138 1438 4X200 2= p d A e 3
292 B lAERRTFE 4X200 2= p d 84 3
293 15 ~1TkBAF & 4X200 2= p d 44 ¥
294 15 ~1Tk®IF & 4X200 2= p d 44 ¥
295 18z utkuti s 4X200 2= p d 44 ¥
296 1821t k%Y 3l 4X200 2= pd NS %
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PEAFMARE 2R (B0M) A8 FEL SR FRE

10 2 o0 s
(94.01.01Cz )t

11&12 & &

(92.01.01~93.12.31)

13& 14 f

(90.01.01~91.12.31)

15 f~17 & i

(87.01.01~89.12.31)

18 g2 1 b gkl
(86.12.31( 7 )2 %)

g & B & g & 9 & 9 &
d 44.00 45. 00 35. 00 37.00 32. 00 34. 50 28. 50 32.00 28.50 31.50
d 1:35.00 [ 1:37.00 | 1:18.00|1:20.00|1:07.00 | 1:11.00 {1:02.00 | 1:07.00| 59.50 | 1:06.00
d 3:25.00 | 3:30.00 | 2:45.00 | 2:47.00 | 2:29.00 | 2:34.00 | 2:16.00 | 2:22.00 | 2:10. 00 | 2:21. 50
d S ——= :30.00 | 5:35.00 [ 5:07.00 | 5:14.00 | 4:48.00 | 5:04.50 | 4:40. 00 | 5:02. 50
d ——= ——= ——= ——= ——= 10:30. 00 - 10:10. 00 - 10:10.00
d ——= ——= ——= ——= 19:00. 00 ——= 18:15. 00 - 18:00. 00 ——=
51. 00 51.50 40. 70 41. 50 37.00 39. 00 33. 50 35. 50 33. 50 35. 50
1:52.50 | 1:54.00 | 1:29.00 | 1:32.50 | 1:20.00 | 1:24.00 { 1:13.50 | 1:21.50 | 1:13.50 | 1:21.50
——= ——= ——= ——= 2:47.00 | 2:53.00 | 2:38.00 | 2:45.00 | 2:38.00 | 2:45. 50
53. 20 53. 90 42. 00 44. 00 38. 00 40. 00 39. 90 37.90 34. 50 37.90
1:56.50 | 1:57.00 [ 1:32.00 | 1:35.00 | 1:23.50 | 1:27.00 | 1:17.00 | 1:23.50 | 1:16.50 | 1:23.00
——= ——= ——= ——= 2:59.00 | 3:05.00 | 2:42.00 | 3:02.00 | 2:41.00 | 3:01. 00
50. 20 51. 00 40. 00 42.00 37.00 38. 90 34. 50 36. 90 33. 00 39. 90
1:52.50 | 1:53.00 30.00 | 1:34.00 [ 1:16.00 { 1:19.00 | 1:07.50 | 1:15.00 | 1:06.00 | 1:14. 50
- - - - 2:38.00 | 2:48.00 | 2:25.00 | 2:41.00 | 2:24.00 | 2:41. 00
3:45.00 | 3:47.00 09. 00 18.00 | 2:46.00 | 2:54.00 | 2:25.00 | 2:46.00 | 2:25.00 | 2:46. 00
——= ——= - - 5:17.00 | 5:48.00 | 5:08.00 | 5:40.00 | 5:08.00 | 5:40. 00

14




